AR FTERLLFREERR > AV URBRREA

125 & g olimg 4254 5 KIRFFEA

EEEE)EY (v H -
AT

TP (R - EF(O) (C3105)

—fe gL A

FEEERF D90 A 4B o
i"‘“ ¢ $5855 A -5, 2F8 RHEF -
FPEHE R R SRR LT

. HEATE 20 4T -




- e
#5(C)

HiEAE o £ 2048 ¢

S D% 1 3D H 20 4 AL S5 A o

3 1

L kél(k )(k+2)

1
(A)g

3
(B)1o

-
()10

3
(D)7

2. %sin@+cos@:% , B sin20= ?

8
(A)-¢

4
(B)-
4
(C)§
8
(D)§

3. % F(0=(2x-1" > py F'(1)=2
(A)6
(B)12
(C)18
(D)24

4, F L E Y 4
7| ok — BE
(A)(2,—1,0)
(B)(-1,0,2)
(C)(0,2,-1)
(D)(0,-1,2)

8. 4(1,0,1) ~ B(0,1,2) ~ C(6,1,-2)#5 & T & E}+ » g| =¥
‘m EV 9

’ﬁt



> -
#5(C)

. KAQ-1)'B(S,2) s T a3 2P ABY 2 - B AP:PB=2:1°

PIPEE k4R 5 P 9

(A)(1,2)

(B)(3,0)

(C)(2,0)

(D)(4,1)

CHBE Y L 2 e By d 1234567 REE
Pro 2 Bi? 53 A BEABARE (M A 112~ 121~ 211) > A
PHEBEH T RS S ?

(A)60

(B)90

(C)120

(D)180

jg(Zx—Ddx:?
(A)6

(B)8

(C)10

(D)12

CE x=YBT y=4283 » 2=\2T  plx -y zthd J M S R 2
(A)y>X>1Z
(B)Z>X>Yy
(C)X>y>1z
(D)X>2>Yy

o FAD)=2 f'0)=42 g(1)=3- g'D=9" £ h(x)=f(x)g(x) * R h'Q2z &
E
(A)30
(B)32
(C)34
(D)36



- e
o #5(C)
10.# 42 A=[aglyq 5 2x3i B 2 g =i+] > =i B=llylg, 5 3«21
e by=i-j . pl AxB=?

2 11]

2 14

(A){
(B)

(C)

14
D
( >Ll

1.5 a~ i X2+2X+4=00= 3 > Pl 3+ B°=2

(A)10
(B)12
(C)14
(D)16

122 2 AABBA A &K 2 AUS AT FEEEEE KB
BoAR S A A - B ETRYAG ) BFELEKRE 2B ) B ERE
BA &2 A -2 FZR*IB PFEERE 3B e LRG -F1
EERET LIELTOLR > 7 RKAT LIFL60MF > 2 A -
PAR SR L6~ 4 A - PBASSIIRALSA > R R F

L9

(C)130~
(D)140 =

4
13. 3 (i) =2
&1

(A)-5+5i
(B)5-5i
(C)—4+4i
(D) 4-4i



- e

#5(C)

14. - 44 § B4 (%X F B4 51013.25hPa)if # T >k ehid gh g
B LS 100R » - 44 F B S 1hPa» -k chid B8 B % 48 <
0.03B - F1 % §F B4 SEHF BB bvm T % ook B NE B R K

fvd e S P A9 FBRT R hPac RS A101-
% B 5 1013.25hPa> B H F 25102 2 ch Rk > ke BE R
AR BR 7

(A)97.9

(B)98.1

(C)98.3

(D)98.5

15.3% +» £ a=(23)  b=(x+16)c=@Yy) - £ a/b-alc B 2x+y="?

(A)2
(B)3
(C)4
(D)5

16. M C:x2+y?=1> [l *t - B.4(0,2) > Bl B Ach> RE L 5 0 ?

17.

(A)2
(B)f3
(SN
(D)6

FRELE Z R B G EE25022 5 PR RE ¢ ou T ARL

B 32002 2 e MPEFEEE ] E30SE e M T FEELE 2 7R
FRESN A R B R RARAE R Z L B L
A =

(A)10

(B)12

(C)14

(D)16



18.3% ABCD & £ & lehlm & 25 » 3 b

LA LR e

19.1+2@+3[

(A)2.20
(B)2.25
(C)2.30
(D)2.35

20.% AABC = £ A 5 G a~b~co (a+h): (btc): (cta)=9: 11:

2 3

IR

L
A
A

1

2

A i N -

AR S S A

=9

2 AABC 7% ff = 8/6 * RIAABC P Fl g ff 5 # ?

(A)2rx
5
(B)57
(C)3r
7
(D)Eﬂ

L S 4(9)

2= L

L



